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Questions 1 to 10 carry 1 mark each. Questions 1% to 15 carmry 2 marks each.
For each guestion, four options are given. One of them is the correct answer.
Make your choice (1, 2 3 or 4) and shade your answer on the Optical Answer
Sheet. ' {20 marks)

14
1 The number .of cars is >4 of the number of motorcycles in a carpark.

What is the ratio of the number of motorcycles to the number of cars in
the carpark? Give your answer in the simplest form.

(1) 7:12
2) 12:7
(3) 14’:24
(4) 24:14

2 What is the value of 20 400 + 7007

(1) 32
(2) 42
(3) 320

(4) 420
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Whatis the value ofz X ry ?
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7 of a cake is cut equally into 12 slices. What fraction of the whole

cake is each siice?
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Which of the following is the same as 10 007 g ?

(1)  1.07kg
(2) 1007 kg
(3)  10.007 kg

(4)  100.07 kg

What is the value of 2.5 + 5007

(1) 5

2y 05
(3) _(3.05
(4)  0.005

There are 200 children in a camp. 130 of them are giris.

percentage of the children are boys?

(1) 30%
@) 35%
(3) 65%
@) 70%

What



10 Which of the following is likely to be the mass of a Nanyang Primary
School student handbook?

)
@
(3
4

20 kg

249
2000 g

200 ¢

11 The ratio of the number of red pins to the number of yellow pins to the
number of greenpins is 4 : 5: 3. The total number of yellow pins and
green pins is 120. How many red pins are there?

(1)
2
@)
“4)

30
80
96

160



12

The'solid below is built using 1-cm cubes.  Find the volume of the sofid.

o)
(2

)
St

)
i

(4)

28 cm’
26 cmd
20 cm®

18 cm®




13

The table below shows the modes of transport ;Jsad by students in Class

SE to go to school.
Mode of . ' ‘ .
Transport Bicycle Bus Car Motorecycle | Train
Number
of 5 10 15 3 8
students

Which of the following bar 'gzaphs repfesents the information shown in

the table above?

(1)

Number

of
students

Bicycle

Bus

Car

Molorcycle

Train

(2)

dumber

of
studenis

Bicycle

Bus

Car

Motorcycle

Train

(3)

Number

of
students

Bicycle

Bus

Car

Motorcycle

(4)

Number

of
~students

Bus

Car

Motorcycle

Train



; : 1
14 Mdm Nor used 3 of her money to buy 4 oranges and 8 apples. The
cost of 2 oranges was the same as that of 3 apples. What was the
greatest number of apples that Mdm Nor could buy with half of the

money she had at first?

1) 9
@) 14
(3) 21
(4) 42

L i L -

15 Atable with 4 columns is filled with numSers in a certain pattern.

The first 6 rows of the table are shown balow. Trie g

Column A Column B Column C Columm D

Row 1 6 5 4 3

Row 2 7 8 9 10
Row 3 14 13 12 11
Row 4 15 16 17 18
Row 5 22 21 20 18
Row 6 23 24 25 26

In which column will the number 343 appear?

{1} Column A

(2) ColumnB
{3) ColumnC
(4) ColumnD
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Questions 16 t0 20 carry 1 mark each. Write your answers in the spaces
provided. For questions which require units, give your answers in the units
staied. (5 marks)

16

Find the value of 100 + (25 — 15) +8x 7.

Ans:

3 .
17 Find the value of 10 + PR Give your answer as a mixed number in the
simplest form.
Ang:
18 Jennie used 350 g of flour to bake 7 buns.  How many such buns could

she bake with 250 g of flour?

Ans:




19

Jonas has $10. He spends 95¢ on a sandwich and 80¢ on a drink.
How much money does Jonas have left?

Ans: §

Alice and Betly donated a sum of money to charity.  40% of the sum of
money was donated by Alice. Befiv donated $480. Find the total sum
of money donated by Alice and Betty.

Ans: §




Questions 21 to 306 carry 2 marks each. Show youf working clearly and write
your answers in the spaces provided. For questions which require units, give
your answers in the units stated. (20 marks)

21 Mrs Ong had some potied plants at first. After she sold 240 potted
plants, she was left with 20% of the potted plants she had at first. How
many polted plants did she have at first?

Ans:

5 \
22 Mr Menon had P kg of sugar. He packed all the sugar into packets of

5 :
Py kg each. How many such packets of sugar did he pack?

Ans:

2
23 tsmail has 350 butfons. = of the butions are red and the rest are blue.

How many blue buttons does he have?

Ans:




2 .
24 Fourtimes of Ali's mass is equal to 3 of Bala’s mass. Whatis the ratio

of Ali’'s mass to their total mass?

Ans:

25  Chang had 90 stickers. The ratio of the number of stickers Chang had
to the number of stickers Dalihad was 9 : 5. How many stickers must
Chang give to Dali 50 that both of them would have the same number of
stickers?

28  The ratio of the number of apples fo the number of oranges Jisoo had
was 7 : 3 atfirst.  After she bought 33 apples and 33 oranges, the ratio
of the number of apples to the number of oranges became 5 : 3. Find
the total number of apples and oranges she had at first.




27  Rosnie had $16 atfirst.  After John gave $8 to Rosnie, he had thrice as
much money as Rosnie.  How much money did John have in the end?

Ans: §

28  How many 4-digit numbers are there such that each number gives 3000
when rounded to the nearest thousand? The digits 2, 3, 5and 0 appear
once in each number.

Ans:

2% Lisa paid $40.50 for a chocolate cake 2nd 8 fruit tarts.  Samuel paid
$25.56 for one such chocolate cake and 2 such fruit ians. How much
did one such chocolate cake cost?

Ans: §




30 Shop A and Shop B sell pens of four colours.
the number of pens sold by each shop in January. The number of blue.

pens sold by Shop A is not shown.

The table below shows

Number of Number of
Colour pens sold by Shop A pens sold by Shop B
Red 140 120
Blue: ? 335
Black 210 245
Purple 80 100

In January, 50% of the pens sold by Shop A were blue pens.

Each of the statements is either true, false or not possible to tell from the

information given.

answer.

For each statement, put a tick { ¥ ) to indicate your

Statement

True

False

Not
possible
to tell

Shop A sold more blue pens than
Shop B in January.

The number of black pens sold by
Shop B in January was twice the
number of black pens sold by Shop
B in February.

in January, 15% of the pens sold by
Shop B were red pens.

End of Paper
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Questions 1 to 5 carry 2 marks each. Show yom; working clearly and write
your answers in the spaces provided. For questions which require units, give
your answers in the units stated. (10 marks)

3 7
(] Ji Eun had 82 m of cloth at first.  She used 3%-5 m of the cloth o make

2
some shirts. She then bought 4—5~ m of cloth. How many mefres of
cloth did she have in the end? '

Ang: . i

11
2 The area of a rectangie is 1-2~§ m?. What is the iotal area of 4 such

rectangles?

Ans: m2




Questions 1 1o 5 carry 2 marks each.  Show your working clearly and write
your answers in the spaces provided. For questions which require units, give
your answers in the units stated. | {10 marks)

3 , 7 ,
1 Ji Eun had §Z m of cloth at first.  She used 3—1-5 m of the cloth to make

2
some shirts. She then bought 4—5 m of cloth. How many metres of

cloth did she have in the end?

Ans: m

£
2 The ares of @ rectangle is ‘IE: m?. What is the total area of 4 such
:} .

rectangles?

Ans: m?




The price of a pair of sneakers is $190 before GST. What is the price

3
of the sneakers after adding 7% GST?
Ans: §
4 The ax}erage cost of a calculator and a storybook is $36. The storybook

1
costs 3 as much as the calculator.  What is the cost of the calculator?

Ans: §

(454

At 9 aum., a tap was turned on to fill an empty tank at a rate of 6 £ per
minute. At 9.05 aum.. another tap was turned on to fill the same tank at
a rate of 3 { per minute. At what time were there 75 # of water in the
tank?

Ans:




For questions 6 to 17, show your working clearly and write your answers in the
spaces provided. The number of marks available is shown in brackets [ Jat
the end of each guestion or part-question. (45 marks)

6 48% of a numberis 312.
(a) Whatis the number?

(b) Whatis 6% of the number?

Ans: {g) {2}

(b) [l

7 The prices of masks sold in a pharmacy are shown in the table below.

First 50 masks $8.00

Next 50 masks $0.15 per mask

Additional masks above 100 masks | $0.10 per mask

Rose wants o buy 135 masks. What is the least amount of money
she has to pay?

Ans: {3]




For questions 8 to 17, show your working clearly and write your answers in the
spaces provided. The number of marks available is shown in brackets [ ]at
the end of each question or part-question. (45 marks)

6 48% of a numberis 312.
(a) Whatis the number?

(b} Whatis 66% of the number?

Ans: (a) {2]
(b) 11
7 The prices of maske soid in a pharmacy are shown in the table below,
First 50 masks $8.00
Next 50 masks $0.15 per mask

Additional masks above 100 masks | $0.10 per mask

Rose wanis o buy 135 masks. What is the least amount of money
she has {o pay?

Ans: (3]




5
A rectangular tank with a square base is 7 —fitled with water as shown

below. Find the volume of waterin the tank.  Give your answer in litres
and millilitres. '

70 cm |

Ans: [3]

Mr Tan had 8 kg of peanuts in a sack at first. He packed the peanuis

3
into bags. Each bag contained 5 kg of peanuts.

-

3
() What was the greatest number of bags he could fill with = kg of
[

peanuts each?

(b} Find the mass of the peanuts left unpacked in the sack.

Ans:  (a) [1]

(b) (2]




10

The bar graph betow shows the number of visitors to a park from Monday
to Friday last week.

(a)

(b)

400

350

300

250

Number
of
visitors

Mon Tue Wed Thu Fri

What was the average number of visitors from Monday to Friday last
week?

The average number of visitors on Saturday and Sunday was twice
ihe average number of visitors from Monday to Friday last week.
Write down one possible set of values for the number of visitors on
Saturday and Sunday.

Ans: {(a) (1]

(b) (2]




1

PQRS is a parallelogram.  PTR and STQ are straight lines.
LOPT. = 40° 4PTQ = 125° and Z8RQ = 75°.

(a} Find 2PQT.

(b) Find £TOR.

Ans: (a)

(b)

[2]
(2]
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At first, Tze Peng baked a total of 120 chocolate cupcakes and vanilla
cupcakes. The ratio of the number of chocolate cupcakes fo the
number of vanilla cupcakes-was 1 : 3 at first. He then bought some
chocolate cupcakes. After that, 60% of the total cupcakes were
chocolate cupcakes.

(a) What was the ratio of the number of vanilla cupcakes to the number
of chocolate cupcakes in the end?

{b) How many chocolate cupcakes did Tze Peng buy?

Ans: (&) {1

(b) (3]




13

o ‘ 3
In a library, 45% of the books are English books, 3 of the remaining

books are Chinese books and the rest are Malay books. The difference
between the number of Chinese books and Malay books is 176. How
many English books are there in the library?

Ans: {41




14

The original price of a washing machine was $1380. Iskandar bought

it at a 30% discount during a sale.

{a) How much did Iskandar pay for the washing machine?
(b) He paid $76.80 for a hair dryer. The total discount for the washing -

machine and the hair dryer was $465.20. Express the discount for
the hairdryeras a percentage of its original price,

Ans: (a) {1]

(b) (3]




15

1 1
Mrs Lim had some money at first.  She spent 3 of it on a blouse and 5
of the remaining money on a skirt. After her husband gave her $484,

she then had the same amount of money as she had at first.

{(a) How much money did she spend on the skirt?

(b} How much money did she have at first?

Ans. (a) [2]

(b) 2]

10



18 In the figure below, ABFG is a square and CDEF is a rectangle, BCF
and GFE are straight lines: CF is thrice as long as BC. Find the area
of triangle ACE.

16 om 9 cm

Ans: {51

11



47 The bar graph below shows the Co-Curriculum Activities {CCA) the
students in Class 6B joined. Every student in Class 6B joined only one
CCA.

20

15
Number
of
fudent
students 10

Rt AL O SIS (RN S DS W A G

g AT C N AR TS SRS SRR QU (I S U LKA S

1

Basketball Robotics , Art Choir Chess

[2]

(@) Each student in Chess CCA paid $9 fo buy a Chess CCA t-shirt.
The amount of money collected from the boys was $18 more than
the amount of money collected from the girls.  What was the ratio
of the number of boys to the numbser of girls in Chess CCA?  Give
your answer in the simplest form.

(b) The ratio of the number of students who joined Art CCA o the total
number of students who joined Basketball CCA, Robotics CCA and
Choir CCAwas 4: 5. Draw and shade the bar to show the number
of students who joined Robotics CCA.

Ans:  (a) [3]

End of Paper

12
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27 Rosriahad $i8atfist, Aer

John gave 38 o Rosnle, he had thrice as
much monsy 25 Rosala.  How much money oid John havo In the end?

318224 [R) e end
Iu.ﬁllf’
3,=2¥xd

28

How many 4-digi numbers s1e Mesvch that each numbsr ber gives 3000
when rounded fo the nearest Umxsand? Thedigits 2, 3, 5 and Dappear
oneein e:mh munber,

olelcio

O 2503
& 2530
& 3025
@ 305 b

?7325‘0 Ans:
D2 205 4
A

A 3000

tisa paid $40.50 for 5 chocolzls cake and 6 fruit fants.  Semue] pad
§25.50 for one such chocolate cake and 2 such fru”t tarts, How much
did ong such chocolsta cake cosl?
g {CH+eT =405
1C+2T = 258 ¢

4T = #0.5- 355
E4 {5"

27 = i$%2

s

! 220 C-F5 A s , I8

=y (o)




Questions 1 fo 5 cany 2 maiks each.  Show your weding deady and wiila 3 Theprice of 5 palr of snoskels Is $100 before GST. What is the brica
your answers In the spases provided,  For guestions wiiich requirs units, give of the sneaters eler sdding 7% GST7

your answers in the unils stated, {40 marks} G o s
105k = 101

o1 pimo,
jov

3 7
i JiEunfad *‘5; mofcioth atfirsl.  She used 3;5 sa ol ths cloth o make

-y

= g 20330 Lang
some ghirls, She then tooght dg wm of coih.  How many malres of
: s:ogif i €56 hava I the Snd?
)) . s oA q -
L3 d. S rvagl3 7»—‘ B [w*S)
AT YN LR 2.0 A
6 i 3 {or) S""i

4 Tbe s%m averzag eod of a caltulalor and a storybook 5880, Tne storyhoak

Ans 8 2 o330

costs § 53 much 25 the coleulalor.  Whstls the cost of the eatouintor?

Totd = 3hx 2.

4. W
. i ) SRy j Au ,?73’
et e - C — 3u - 3,7)’:\,_:,
z The area cf a rectangle is 1—-* WA Whatis the total arez of 4 such B /f'} * 3 i S—ZLC’»:}D

ctengies? Ansg B4 -

NIRRT o R
j}fw‘?\ﬂ?’ = "S 5 Lﬂ";/

v

A8 a.m., 4 tep was umed on o 6 an emply tank ot 2 rate of 8 £ par
mingo, AL9.05s.m, another fop was tumed on o #ithe coms tenk ot
a rate of 3 {per minute. AL whal Ume were there 75 ¢ of water in e

fank?
Tove L__\ 76302145
Y L
Gae] LR uin éﬁ/ﬁ,,\ + 32/ £in T 1£/*~t
‘}l@»: Hx5=1 /g_g,»? 5
e (32 i ) Govin spter J-08 aees
3 e 820 o L0
7 | 15k >gs0 )
o~ {4 .
LS
Ans el e . ‘ Ans MWM‘ R
£ kL
For quistions 6 to 17, show your working < r:j’h‘l ffﬁ WA YO 3"““"3“"’ i the & A seotanguler lank with @ squste base i 3 ~fllsd wihowater 28 shown
spazes provided,  Ths numbaer of inarks available s shown inbrackets [ 1t pitiwedh et ¥
the énd of each question of pars-question, {35 marks} bolove, Find havelume afwelerin thalank Ghve youranswnr i ires
and m!Lz:ﬁres. T
PUE. R B
g 45%, of 2 numiber is 312, R ;33“/3 —~a.3172 e Lo s
5 Zex [
. il - é,fa—T ~,} i
{z}  Wiholls the number? [ Y

33 150
) Vit is 6% of e runbery  1OCT — 2 Tk

é ]5{3 i) = 650 Cans &) )
=805 {ass (6})

=20 oSO

(20 G510 g s 1208 50K
;‘o

Ans: {p} {3? D 17

o 424 1

ivol oL

Angs — e
? The prices of masks eold in 2 pharmacy aro shown in hs wbila below,
‘ 4 e Ton hod 8 kg of poonuls in 5 cack at first, Mo pacted th sils
First 50 mousks 82.63 ) ) g of poa . in 33 i o prcked the pesaut
o o brgs,  Each bag eonteined 3 kg of peanuts,
Next S0 masks - $0.15 per mask
Additonst masks abovs 100 masks | $0.10 por mask ’ () Wit vss the grentest rumber of bogs ha could i vith o 5 g or

peenuls cach?
Rosg wrants o buy 135 masks.  What Is the last ampunt of reoney

sho has fo pay? ;D o 3E {b) Find tha mass of the peanuts iol unpacked I e saek,
35 —> + . s
T g
. / o Lo ‘6,5;35 8 & _g-""" :
&g Folswxv 3

=%
= 7o $350 ' ‘2} a2 ped e Cons (00)
ep £E2 5051 9ns -

$¢+3750 ) i L

. 1
Ans: $ / 6} £3) ) l:j (“““ (L)) lﬂ}’
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18 The borgraph below shows the numberof visiiorsioa par}/ from Monday
to Fridoy lnstwesk.

0 LN

) 7300
+

(&) Whatwas the average nuinber of vislfors from Monday to Frduy last
waek? - .
{5} The averzya number of visitors on Saturday snd Sunday wa: twicd

the average number of visitors from Monday to Friday fast wWEsk.
Write down vow possibla set of values for the nimber of visilers on
Salurdsy and Sunday.

pro ¢ 2908201 07 B0 g5 o)

=)

2poox 2.7 R (ave of Se4 Sn)
heypx2>G6e (fotl of Se+ S )

hoy S, el R
yj}% a(.(‘,u”; g';(;g
£a. P02 B 250
K S @

) ..?.‘?.‘L 68

12 Allust, Tze Peng baksd a lolei of 120 chocolzle cuptokes 20d vaniila
cupeakas.  The raflo of e numbsr of chocolote cupsakes o the
sumbsr of vanilla cupsakes was 1 13 al first.  He ihen bought seme
checolala cupsakas,  Alter thal, 80% of s il cupcshes wems
chocnlats eopealkme.

{&) Whnstwss the raltio of the awnber of vaailia cupcakes (o the sumber
of chocolate cipozies in the 2nd?

Y Howmany chacalste cupeokes ¢id Yz Paoag bwy?
. Jotd
clv | ebl / [ro
- 1 ffn,( - f 2

fu = frodg

Py
= [0C ()

Ans: {n) '2' 5_’ e (1)
w 05 g

i eI A aee o a sy ok

11 PORSlsaparaffelomm  PTR and 5TQ are siraighd fines,
LEPT = 40°%, £LPTOQ = 125 20d £L5RO = 75°,

(2) Find 2PQT.
®) Fins LTOR.
LSPR = L3RE Lop £ of pulelog s
= 75°
LRIQ = 1810
2 357
LPRT = 1§0°-38 - 125
s 20" fans)

Lpses o750
S0
LT R 108520
= 8T° Lans)

Ang: in} N

23

[0 S —

o

13 In o dlibrery, 45% of the books are English posks, ¢ wf e remaining
bouks are Chinesa books ond tho rest 2re Linlay bsak& TheGilerenss)
betwaen e number of Chiness hooks and Malay books 5 178, How
srany English boolks are there Inthe Worary?

B Bog
Tu;?t{ / e
P ; pad
bowga N AT
) ot 2
(wGJs ~45h\ S ;«,’Lw =
A
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el

~

rgu»:!v. = fu
]rx, =114

54 E] /791 39
= £80
Cr/lxm’ih?»j)
557, > ¥o
[ %o 820755

457, — ooFTeuS
5 720 (»3)
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14

The original price of 2 washing machine vwos $1280.  Iskondar bought
i at 2 30% discount during 3 sale.

{8) How much did Isk pay Tor thaveashing maching?

{B} Hepaid$76,80 fora hairdiyer,  The total discount Jorthe washing

mazchine and the boir dryer was 345520, Express tha discount e
the hel diyer s & peiceniage of ifs wriginof price,

DHgimaf — $13<§q}

CPieoit—> 307

peging — 1007 ~Fp7e= Pl
wn % X
}é‘%’% iggy:,?l;"’yéé(qn& (éf}}

Distows for wash y pasebipe

= 3. 38
Io{x x

4h52 ~giy = 52

= 4%
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o it i H

= E igote = 4o,
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100
b} - ?0 e i
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. BCF

In the fgure below, ADCG B & square sod COEF & 1 rectangle.
and GFE are strzight tines. CF is ivige 22 g &s BC,  Frd e aree
of tdangle ACE, T R

-l
i

e
N
g

B R ——

¥

BF = b KBFG & aspoc)

af gides art ‘iu“’g -

el rea={tbrtb)+G2)
= 361’!»
K> Ly (1644) 2 ip = 200
\{ﬂ,} ,szf,xw = 372
Z> Ly x 1275

R gw}v(;;»&)
odadd =3y 200" 32 -5} =7
Sheded =3 -3007 2 18
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15 Mo U hed some tmoney i fiest,  She spent 3 ofitonablouseand =

o3

of {hie remaining moncy on o sREl. ARler hor hushand gove her S48,
stz then Bind s some areuns of menoy 9 sha had o ret

{2} Howr much yooney 8it €bo vuand o e ol

2'5’

{8} Howsngh money didshe ’m # first?
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7 e Sor graph below shows e Co-Cusrouinm Acliviies (CTAj e
studenta in Class 68 joined,  Evary siudantin Class 88 binsd oty ons
CCA.
20 T
R 18 b Lo 1
= o 27 o
of s
(A
oA

s : : : )
Baskelboll RobioSes At Chelr  Choss ©

() Eech student in Chass COA pald 59 to buy a Chess ClA b
The amountof mcnmy coltecied from tha boys was $18 more ﬁ«s*
the amount of momyodtectcd from tho gids.  Whal veas the mtie
of the rumiber of boys Int We wmber of gitls b Chess CCA?  Gie
your answer inthe sxmp!gsi o,

{b) The ratio of tha nimbar of stilents wiw joined Af CCA to the ozt
mismberof shiden “o;&nw Baskethall CCA, Robiotics CCA ard
3 ‘a%}m bar tastioee e yumber

&) 8%~ Q\n'.eyc boys %M a/{',. i Chage .
i thess
02>
9/).75}‘ ils 7 P o
J0-4=b boys

b) b : : B+gech e
&3, %3

{2 348+ 7
e X B
R#i5-3-2=10 (dm-’ 10 14 5rph )
End of Paper .








